EPO0030/B

()

il

Y &

b Qo8
\ &
IS

O,
Plan Number
LIFT SYSTEM | SPRINGER KIDS
1/2 |EPO0030/B
Scale: 1:4 Drafted Verified Confirmed \V
Date 24/03/2011 | 07/09/2011 | 07/09/2011
Initals BS BS K




EPO0030/B

Material

No. Plan Article Quantity

1 YP02436 1897654 1

2 YP02438 1897754 2

3 YP02435 1897854 1

4 YP02947 2818454 1

5 YP02949 2818354 1

6 X003692 1998763 2

| 7 XP00575 28174 2

8 XP00685 2990912 4

9 XP00690 2991282 2
|10 XP00790 28185 2

11 XP00791 2818654 2

12 X001119 1001554 8
|13 M8 1001682 4

14 M8x70 1996723 2

15 MB8x50 1902483 2

16 DIN127B-M8 2991295 2

17 M10x50 1009335 2

18 DIN125A-M10 1001558 15

19 DIN985-M10 1001683 5

20 M8x60 1900809 2

21 M8x90 1903995 2

22 M10x70 1995829 3

23 -- 1997622 1

24 - 2990303 1

25 M6x45 1991017 2

26 DIN125A-M6 1000973 2

27 DIN985-M6 1001680 2

28 DIN933-M10x25 1001450 2

Plan Number
LIFT SYSTEM | SPRINGER KIDS 22 [EPO0030/B
Scale: 1:4 Drafted Verified Confirmed
Date 24/03/2011 | 07/09/2011 07/09/2011 DAY
Initals BS BS K 09




